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Add or subtract.  Then write two more related problems for each basic fact.  
 

1.  6 + 2 =                2.  8 – 6 =            

    16 + 2 =                     28 – 6 =            

    26 + 2 =                     38 – 6 =            

                                                                                          

                                                                                          

 
 
 

3.  4 + 3 =                4.  7 – 3 =            

     44 + 3 =                     57 – 3 =            

     74 + 3 =                     77 – 3 =            
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5.  5 + 2 =                6.  7 – 2 =            

     35 + 2 =                     57 – 2 =            

     75 + 2 =                     67 – 2 =            

                                                                                          

                                                                                          

 

Solve the following 4 problems.  Show your number bonds.  Draw if that will help you.  

1.  20 – 6 =               2.  30 – 5 =            
 
 
 
 
 
3.  49 – 6 =               4.  69 – 6 =            

 

 

Solve.   
79 people attended the concert.  6 people had to leave at the break.  How many people 
were still at the concert after the break? 
 
 
 


